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OR (3121a1)

Explain the operation of 8-cavity magnetron.
8-&T HvA¢lA & uRATas @) =T o |

8. Draw constructional diagram of Gunn diode and

explain its working principle.
8

T4 SIS @ A9 IRT &l ©id 3R
39 il RIgid &) aar=ar & |

OR (312f1an)
Explain differential forms fo Maxwell’s equations.

ARdd & GBI & Jddhel-l wd Bl
ATEAT BN |

9. Drive the following expression for group velocity

8
[ 2
V, =C.V1- (%cl) Where symbols have their usual

meaning.
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2019(0dd) Old Syllabus
Time : 3Hrs. Sem - VI/Ec Engg.

Microwave Engg.
Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

79-C & uift ufg vl @ SR <, UAS U & 99 8 F 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR(3721d) (ii)
What do you mean by rectangular waveguide?

Write its applications.

ITIATHR =T e & M9y |7 993 27
3D IYAN & ford |

(iif)
Explain the working principle of varactor diode.

4
NI SIS & HRI—RIgid H ARAT B |

OR(3721dT) (iii)

Explain cut-off and guide wavelength of rectangular

waveguide.

IMAATHR =T A & Be—amp AR
frder axRed @ Qe wY | (iv)

What do you mean by H-plane Tee junction?

H- w9 &) Sd2a 9 39 o7 993d 2 2

3 21605E

frafaRaa 4 4 @9 WsIT aRT BT
a¥ieed @ 3FR sHd M1 1GHz @
(1) 30cm

(@) 3cm

(|) 3m

(?) 3 mm

In which of the following device slow wave
structure is used.

(a) Klystron

(b) TWT

(c) Magnetron

(d) All of the above

fr=ifafaa 4 49 fea gfea § dg ava
[T BT 9T fHar siar 2

(31) frargT™

@) TWT

(|) #A=gH=

(%) Swiaa g+

Which of the following statement is correct
for Gunn diode.

(a) It is a temperature sensitive device

(b) It is used as microwave oscillator

(c) It’s efficiency is above 50%

(d) Both (a) and (b)
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xx) fr=faRad 9 9 &I Sar AT BI
geflR¥fa &xar 2@
(31) W/B

(@) Brw
(@ WB_ |
(?) 399 & dIg &I

GROUPB

Answer all Five Questions.

gl uig g & SN < |

4x5=20

2.  What do you mean by microwave? Write its
advantages.

&AW MY RT WA 27 $HD ATHl
®! fad |

0T6026

(vi)

(vii)

(vii)

(viii)

5 21605E

frr=fafRaa 9 @ d9—a1 @ fdaeg ™
3 forg @l 2 |

(31) I8 U fa9Iy selagiv <gd @

(d) ST YA YR ¥ BIdr 2

(&) @) 3 () <t

() 39 9 BIg 78

Which of the following device convert D.C.
power into microwave power.

(a) Reflex Klystron

(b)Tunnel diode

(c) Wave guide

(d) All of the above

frafafaa & 9 a9 gfaa odlo
vifed &1 ATghiad vfdd § uRafda
Bl 2

(@1 Ruata faeei=

(@) eie sHs

() o= fader

(%) Swiqad g+

Efficiency of magetron lies between..............
(a) 10% to 20%
(b) 10% to 15%
(c) 40% to 70%
(d) 20% to 30%
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(i) fremeTs e ISP o |
E)REANED
@) s <R>
(w) (1) ar (@)
(]) 379 | HIs T8
(xvii) Rotary-vane attenuator consists of ............
(a) Only two fixed wave guide sections
(b) Only one rotary wave guide section
(c) Two fixed and one rotary wave guide
sections.
(d) None of these
(xvii) red—a=T efforedrdy A ... B B |

(xviii)

(@1) ®aa <1 fARga @ fAder @vs

(@) dad T A I Al e

(@) <t if¥=@a vd e et aRafdw
gus

(@) s 4 BIg el

Which of the following statement is correct

for horn antenna.

(a) It can operate over a wide range of
frequecncies

(b) It has low SWR

(c) Both (a) and (b)

(d) None of these

0T6026

x)

(xi)

(xi)

(xii)
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NI SAS T SR dUfieH ...

o R @xar 21

(@1) daa Rad 999 dieew

(@) ®ad Sy AW D 9SS

(@) Rad qra dieeo iR feuates™
AW D SIS Il

(?) 37 9 @I =

Which of the following statement is correct.
(a) Co-axial wire is broadband device

(b) C0-axial wire is narrowband device

(¢) TEM mode is dominant mode in co-axial

wire.
(d) Both (a) and (b)

frafaRad 9 @ di9—1 $o ad 2

(31) wwref ar stsds gfam 2

(@) e ar e gfaa @

(3) wwefa arR # sifiFe Als TEM
As ghar 2 |

(®) (1) 8fik (@) <r=f

Waveguide is made of ...............
(a) Metal

(b) Wood

(c) Glass

(d) None of these
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g 97 & fay Fe=fafeaa sifrafea o1 s« g A7 & fr=ifaReaa afrafeda &t sma &)
E
AR s e s _ V, =CA-(20) Gt et & wara
Ve =C. 1-(M)2 el fasl @ awr=a et & fo (Xc)w @
e Jef 2|
OR(372rd) OR (3721dT)
Explain the operation of parabolic antenna with Explain the operation of parabolic antenna with
the help of its constructional diagram. the help of its constructional diagram.
Rac Ufear & uRareq &1 e saa Racd fedr & uRarad &) =T sda
91dC IARY B eIl 4 I | 91dC IARY B Al 4 B |
10. Explain the working principle of majic tee. 10. Explain the working principle of majic tee.
8 8
Afve & & srl Rigla &) ar=an a | ife & @ 1 Rigia 31 = aw |
OR (31214T) OR (312r14T)
Explain the construction of resistive - card Explain the construction of resistance- card
attenuator. attenuator.
MeiRea—are eivTdR] & srac @1 ArAm MiRea—are eivre™l & girac &1 arn

B | B |
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